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Xt&: OECD. Stat. "National Accounts
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Productivity and Wage growth(1999-2007)
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1991~2000 6.0 6.7 0.9 1.0 3.2 3.9 1.8 19
2001~2010 40 4.3 0.5 0.7 2.0 2.0 1.5 1.6
2011~2020 2.6 3.0 0.2 0.7 1.2 11 1.2 1.2
2021~2030 1.8 2.2 -04 -0.1 0.8 09 1.4 14
2031~2040 1.2 - -0.6 - 0.5 - 1.3 -
2041~2050 1.2 - -0.6 - 04 - 1.3 -
2051~2060 1.1 - -0.7 - 0.5 - 1.3 -
AFE: Kwon(2017), Z= A 2|(2014)
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= 2I(S. Marglin): “... wage-led growth is not a panacea, it is an
appropriate prescription for recession.
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0.309 0439% | 0413*

CI= - _
AZNFEE (0.215) 0214)  (0.196)
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